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16,500
49,500

87,000

A 21,000

=

66,000

66,000

16,500
49,500

87,000

A 21,000

= M W

332,852
232,989
49,932
49,931

276,576

56,276

= M W

332,852
232,989
49,932
49,931

276,576

56,276

= W

332,852
332,852

232,989
49,932
49,931

276,576

56,276

In
o
[>
m
Im
rx
o
Ho
02

539,109

519,109

20,000




ARG RS~
M e - ots=EX &

& ots=EX X (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2

= 320,000
Al 219,109

101 @144 dl 233,310 230,059 3,251
= 107,403
Al 125,907

03 RIAHAZ 2B+ 233,310 0 233,310
OSEYAEENH 29 233,310
=2 107,403
Al 125,907

201 et 41,500 49,100 AT,600
= 31,500
Al 10,000

01 At 2teltl 18,300 18,300 0
OLEEAEBEHNH 29 18,300
= 16,300
Al 2,000

02 =224l 16,200 19,000 A 2,800
OSEYAEENH 29 16,200
= 11,200
Al 5,000

03 A2 S HI 7,000 11,800 A 4,800
OLEEAEEHNH 29 7,000
= 4,000
Al 3,000

202 O4dl 10,800 15,000 A 4,200
= 7,000
Al 3,800

01 = LH o4 4l 10,800 15,000 A 4,200
OC2UAEIEHNEH 29 10,800
= 7,000
Al 3,800

301 L2 Az 215,499 183,200 32,299
= 149,097
Al 66,402

01 MEIBE X253 33,400 29,780 3,620
OLEEAEEHNH 29 33,400
= 20,000
Al 13,400

09 HALAHIEA S 41,700 17,800 23,900
OSEYAEENH 2Y 41,700
= 23,500
Al 18,200

1MIIEESS 140,399 135,620 4,779
OLEEAEREHNH 29 140,399
= 105,597
Al 34,802




2N
X ZH -
L= B

el

HeEAEN
e - ots=A 58
Ots=X X

= - — SHE|
SN ZH-SR(SA) - HRAY - B 0l &t o8 il HlnE2
307 glz2tol & 30,000 31,750 21,750
= 20,000
Al 10,000
01 2=zL =4l 30,000 31,750 A 1,750
OLEAERENH 29 30,000
= 20,000
Al 10,000
401 A& BIZ 201 8] 5,000 5,000 0
= 3,000
Al 2,000
01 A& HI 5,000 5,000 0
OEEAEEHNH 29 5,000
= 3,000
Al 2,000
405 XHobF S HI 3,000 5,000 A 2,000
= 2,000
Al 1,000
01 AL 2 S FH S| 3,000 5,000 A 2,000
O EAEENH 29 3,000
= 2,000
Al 1,000
CEAEIENE HY 40,000 0 40,000
401 Al HI 2 2B 40,000 0 40,000
01 A& HI 40,000 0 40,000
OSEAEIE (24 A g9l 40,000
otssXIAE K& 13,076,198 11,264,883 1,811,315
= 3,195,387
| 207,911
< 2,453,727
Al 7,219,173
Ots=XAIE 2IX& 3,593,751 3,220,418 373,333
< 509,837
Al 3,083,914
307 21201 A 3,593,751 3,220,418 373,333
< 509,837
Al 3,083,914
10 ALSISXAIEEE2IHEX 3,593,751 3,220,418 373,333
OO0ts=XAIE 23l 3,398,912
< 509,837
Al 2,889,075
OOS=EXNAEEAX HRHMA 194,839
Ots=XAE 250t A& 50,000 50,000 0
301 LEtE A= 50,000 50,000 0
01 MEIBEZE 06z 50,000 50,000 0




AN 0 aE D
Hu: oM - OlS=X A
&2 OFSEXAE X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O0ts=XAE BE50ts 2HAlH]
500& 200 «365 36,500
OOtS=EXAIE Ol =St &HI (5 - 1)
300,000& *45H 13 13,500
OhE=XAE JIs2d 415,822 193,074 222,748
J| 207,911
< 103,956
Al 103,955
402 2I2H X201 M 415,822 193,074 222,748
J| 207,911
< 103,956
Al 103,955
01 B2t AP E X 415,822 193,074 222,748
OO0s=EXAE JIsEL 415,822
J| 207,911
< 103,956
Al 103,955
OtSEXAIE 4AHSH 575,000 480,000 95,000
= 517,500
< 40,250
Al 17,250
307 glz2tol & 575,000 480,000 95,000
= 517,500
< 40,250
Al 17,250
11T MISRASEX 575,000 480,000 95,000
OO0s=XAIE HAHSH 575,000
= 517,500
< 40,250
Al 17,250
OtE=SXAIE =230 3,000 70,000 A 67,000
308 XX EHHSOIA 3,000 0 3,000
08 WSEII20HetE = 3,000 0 3,000
OOsEXAIE nE2H 3,000
AN&ots K& 166,000 157,460 8,540
< 49,800
Al 116,200
307 glz2tol & 166,000 157,460 8,540
< 49,800
Al 116,200
11T M SRASE EX 166,000 157,460 8,540
OAZots XI& 166,000
< 49,800
Al 116,200
QES0ts I8 22 948,483 486,338 462,145
= 352,753




2N
X ZH -
L= B

el

HeEAEN
e - ots=A 58
OlS=XAIE K&

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

= H

264,565
331,165

307 21201 &

= M W

948,483
352,753
264,565
331,165

486,338

462,145

10 AFRIS XA 2 E 23

A =
= X
OREsSs 158 24

©
0
H
fol
=}
o
|J
[
O
OB
>
>
S
10
=

= N W

948,483
881,883

352,753
264,565
264,565

66,600

486,338

462,145

= N H

129,350
50,588
37,941
40,821

43,850

85,500

307 21201 &

= N H

129,350
50,588
37,941
40,821

43,850

85,500

10 AFRI S XA EHE 2 S

2
Ostiimlol ots A=Y

OsSithLlol Ols &H SAA MHA

= mnH

129,350
126,470

50,588
37,941
37,941

2,880

43,850

85,500

OlS =2 X WA AL E A X2 K H)

= W

658,560
329,280
131,712
197,568

658,560

= W

658,560
329,280
131,712
197,568

658,560

AONR-IESRDNFIDNE-D)

= W

658,560

658,560
329,280
131,712
197,568

658,560

= MW

3,890,532
1,945,266

778,106
1,167,160

3,760,732

129,800

307 21201 A

= MW

3,890,532
1,945,266

778,106
1,167,160

3,760,732

129,800
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X ZH -
L= B

el

HeEAEN
e - ots=A 58
OlS=XAIE K&

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
11T M SRASE EX 3,890,532 3,760,732 129,800
OXgotsdH Jl222l 3,461,844
= 1,730,922
< 692,369
Al 1,038,553
OXZgotsdH FIHXI&HI 72,336
= 36,168
= 14,467
Al 21,701
OXgotsdH EQ2Y% XA 356,352
= 178,176
= 71,270
Al 106,906
ANAOotsSHEH SAA =X+ 243,000 117,600 125,400
307 21201 A 243,000 117,600 125,400
10 ALSISXAIEEE2GHEX 243,000 117,600 125,400
OXNY0tsdEH SAA SX=& 243,000
NEotsdEH SAXNERIHAL 142,800 98,640 44,160
< 28,560
Al 114,240
307 21201 A 142,800 98,640 44,160
< 28,560
Al 114,240
10 AL SXNAIEEE2EHEX 142,800 98,640 44,160
OXY0tsdEH SAX M<MHAH 142,800
< 28,560
Al 114,240
ANSotsdH S4H X& 2,134,800 1,868,611 266, 189
= 450,000
Al 1,684,800
307 glz2tol & 2,134,800 1,868,611 266, 189
S 450,000
Al 1,684,800
11T M Z2XAISE EX 2,134,800 1,868,611 266, 189
OXSotsdH LUz SAH X 1,800,000
= 450,000
Al 1,350,000
OXNGOtSHE EQ2ZE =4H XI& 172,800
OXSOotsHH 2tAHI 162,000
NEotsdlE SAUS 9,500 10,000 A 500
307 21201 A 9,500 10,000 A 500
11T MISRASER 9,500 10,000 A 500
OXSOotSHEH etits SAU 9,500
OtS &S T A ZEAY 15,000 0 15,000




2N

HeEAEN

Hu: oM - OlS=X A
e OrsSSXAIE XS (2 &HH)
- _ _ RE]

SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
201 Bt 15,000 0 15,000
01 AP 22| H| 15,000 0 15,000

OSETETA ZEZ=EAY 15,000

Ols&s tU20te 29 9,600 0 9,600
201 LBt | 9,600 0 9,600
01 AP 22| d| 9,600 0 9,600

OOISHSGTA =XV A BHLY

80,000& 12 63| 5,760
OFZEOI0I% ZXVE AV BHLY

80,000& *8H 63| 3,840

OIS EXAIEHH EX2 83X 2,000 0 2,000
307 2iz2to| & 2,000 0 2,000
02 QIZ2IA AAIE E X 2,000 0 2,000

OXY0lsSHHE T Z2HE (M=AlXY0t= Al
HAg3) 2,000
OlsSESEII L OISAEBIZAI EGALY 30,000 0 30,000
207 SO0 £ 30,000 0 30,000
01 A 30,000 0 30,000
OOt 9stmEII Y OIS AENEAI E9AY 30,000

XNEot=sHdH JisE2 39,000 0 39,000
& 39,000

402 SI2FXHE0| & 39,000 0 39,000
o=t 39,000

01 QIZEXIEAIE 2 X 39,000 0 39,000
OXYE0otsSHH JsE2AY 39,000
o 39,000

AMNEoEZ e O8E Jls:Ed 20,000 0 20,000
&< 20,000

402 SI2F 20| & 20,000 0 20,000
& 20,000

01 QAN SAIE E =X 20,000 0 20,000
OAHEEZXe 08 JIsEIAY 20,000
= 20,000

g2 X3 114,351,008 116,852,291 N2,501,283
= 63,171,434
= 36,723,098
Al 14,456,476

ofsE=E= 92,401,869 96,850,658 N4 ,448,789
= 48,417,082
= 34,276,603
Al 9,708,184

301 et A= 92,401,869 96,850,658 N4 ,448,789
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2N
X ZH -
L= B

el

HeEAEN
e - ots=A 58
25 &

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 48,417,082
< 34,276,603
Al 9,708,184
01 MEI2BZE 05z 92,401,869 96,850,658 AN4,448,789
ots=E=x 92,401,869
@024 E=2 64,556,109
= 48,417,082
< 6,455,611
Al 9,683,416
@3-5AM =2l E BEFE 27,742,560
< 27,742,560
OFS0ts Ytz B8 103,200
< 78,432
Al 24,768
SIS HH /IE29Y 300,000 350,000 A 50,000
307 gl2tol & 300,000 350,000 A50,000
05 RIZHRIE 3 300,000 350,000 A 50,000
OXF=Al SOIESEHXZHEH 29 300,000
ESUA E8xE XA 864,000 936,000 AT72,000
301 et a = 864,000 936,000 AT72,000
01 MEIBZE 06z 864,000 936,000 AT2,000
OE=uwA S8 X&
30,000& *2,400H x12& 864,000
Esnd ¥l2s+Y X 486,000 486,000 0
301 et d=s 486,000 486,000 0
01 M2I2EZE 406z 486,000 486,000 0
©3F 014 22T 180,000
o548 0la 22X 306,000
250 SXXNE 17,100 20,000 A 2,900
307 21201 A 17,100 20,000 A 2,900
11T AL S XA E = 17,100 20,000 A 2,900
Oollel =008 HAst 17,100
0egold ESndd M I M XA 59,850 57,960 1,890
307 glz2tol & 59,850 57,960 1,890
06 283 59,850 57,960 1,890
ONe o EsnAA AXMIHE It
12,600& *4,750H 59,850
oelold oglol ¢+dsHMel It X & 121,900 115,000 6,900
307 gl2tol & 121,900 115,000 6,900
06 283 121,900 115,000 6,900
OZRO0t HEIBHS It 5,000& *23,000& 115,000

_23_




2N

HeEAEN

M g - ots=EX BT
el 25 X (29l 8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=AHASE 300& *23,000H 6,900
QIZINEI0IE ESWUAM B82 K& 187,200 190,800 A 3,600
307 glz2+ol & 187,200 190,800 A 3,600
06 283 187,200 190,800 A 3,600
ORIZINEIOIE E'UAM BEZ(0E) A&
6,000&*2,600H x12& 187,200
Helold A ALY 90,000 100,000 A 10,000
307 glz2tol & 90,000 100,000 A 10,000
11T M SXASEX 90,000 100,000 A 10,000
ONE0IE SZMHLASY 90,000
Ots2sHtHd 223 43X 10,000 0 10,000
307 21201 A 10,000 0 10,000
02 HAHFHAANGEEE 10,000 0 10,000
OROIAMEZ2US (V2AAHSO0IEHES]) 3,000
OOIOIA S ZEO0ISAUSI(HA NS O0IEHAE S
) 3,000
OZR0t sO0I&0tL (OIE 020 HE ) 4,000
Zos SsAlE WMwaH X3 8,000 10,000 A 2,000
301 et d s 8,000 10,000 A2,000
01 MEIEZE+06l= 8,000 10,000 A 2,000
OZl= SSAE WMRH K&
400, 000& *204 2= 8,000
IHELgsE X 19,558,581 17,500, 180 2,058,401
= 14,631,098
< 2,384,868
Al 2,542,615
301 et d=s 19,558,581 17,500, 180 2,058,401
= 14,631,098
< 2,384,868
Al 2,542,615
01 MI2EZE 406z 19,558,581 17,500, 180 2,058,401
ONgLs=Y & 19,558,581
= 14,631,098
< 2,384,868
Al 2,542,615
ANZHESAY X2 246,508 161,910 84,598
= 123,254
< 61,627
Al 61,627
301 et A= 50,000 48,572 1,428
= 25,000
< 12,500
Al 12,500
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AN 0 aE D
Hu: oM - OlS=X A
el B8 N CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 MI2EZE+06l= 50,000 48,572 1,428
OANZHES BEE2XH 50,000
= 25,000
< 12,500
Al 12,500
307 21201 A 196,508 113,338 83,170
= 98,254
< 49,127
Al 49,127
10 ALSISXAIEEER2IHEX 196,508 113,338 83,170
OAZtHES 2L X3 196,508
= 98,254
< 49,127
Al 49,127
ERNESEL PN 880,000 955,000 AT75,000
< 2,000
Al 878,000
£d =ol=s € M4d 2sd XA 870,000 900,000 A 30,000
301 gt d= 870,000 900,000 230,000
01 Ml28E+06l= 870,000 900,000 230,000
OSmor &4 =ot=a XA 30,000
OAIMOL Ol sd0F UHH 2=Hl N& 840,000
OLOIEDl E2MY 228 23 10,000 10,000 0
< 2,000
Al 8,000
307 21201 A 10,000 10,000 0
< 2,000
Al 8,000
11T MISRASEEX 10,000 10,000 0
OO0t0IEDl E2AME 228 29 10,000
= 2,000
Al 8,000
dad Bs 54 3,834,211 3,285,766 548,445
= 32,695
Jl| 838,722
< 257,284
Al 2,705,510
HAYE Zsta A 232,867 175,000 57,867
d4d 2stas NE 24,000 30,000 A 6,000
307 21201 A 24,000 30,000 A 6,000
02 IZtEHAIHE L 24,000 30,000 A 6,000
OFAY 2L (dFAJLUELAERS9H) 3,300
O=31st{dsLt. DegsLC DB HE(EA
SHALAEURSY) 3,300

_25_




™ (a0} ™ o o o o o o al o o o o0} o0}
™ o ™ o o o (@] (@] (@] < o o o [e0] [e0]
©le|<e Cl<e|= RS BT It . Cle|= ~ ~
KD MR < <
E|
o
o o o o o o o o o o o o o o o
o o o o o o Lo o o o o o
(e} o (e} o o o [V} o o o o o
slo|ls s |lo o = S | <o |© < <
WH3r N == |2 &2 R R
k4]
k=]
o o o o N~ N~ N~ N~ o o o o o o o o o o Al 1B — ©O© O o o o o o o o AN © © O AN © © O
o o (=] o (e} © (e} (<o} o o o o o (e} (e} (e} o (e} DD D O M O o o o o o o o — WO N~ O — WO N O
® 5 3 RN |® 0 0|lS 5|8 & S |0 |°n |0 S DM OIS |S S S S S G| dm®o|wvdno
[co BN Yo RN Te] ™ <t <t < < o o o O O <t <t <t ™ — M~ O — W [oe] [oe] O 0O < N Al — M M~ Al — M M~
[aN] (V] [aN] N [ee] o] [ee] o o] ~ — O AN N~ Al — O — Nl — O —
— — — — (o)) < — ™ © ™ [aN] © ™ [aN]
ar
<
=
Mme W= A= A=
—~ R K-
0 o W ul Ldl
put] = K
ar |° 0k ®O oF
n |® R o= 4 &
=N — R0 _
G CI A o o 3l
. - 2 < K - = Al 50
a; [@ R N © oo
= K = O - = . <k
- |5 - < = mJ X o] — T
< K] an _ - - [ o KM
o &) = Kk 5] K- o ol = F =
IR0 TR I = e K = =
= oo W z
= M_ ML_ =z * w_ G . T 0 80 o] ol O
: 3 o O R0 or ey _ 0 = ol M
=~ | = B g d [={ =]l = 03 S orl Ko
= |ny W o K& K BOA | g T R mol g 0
= = m o [ R0 o = TR A OF
iof 0o = H IR I H 2 B X o
- |m 5 . 4 il ey R T m ot Hog | K
F [ w2l ¥ LT T 28 5 m 2 of 0 p Moo o
5 oo Sl —~ | ®o < m | =< £ 7T ki < of N ERE O ™|
- e T T PaT || " |20 a]o Rl |z @ @ N 0 W~ W Ll modE o il
S |Sa 4 A k=S| R S |® K- K S| =Ea dE | o I T B e =)
o= @ R Mok | m | & AR 3| AN R R RN T8 OR | o |2l R e e e D R
O (@) © O © Hlal|al O |al|al ©O O |m|a)|a) © © T ol | © n al
: Rislys 10513 IR ERE > 5
X | ® K- | & A4 ® ) 4|« < &
o+ il pd R0 <4 ®0 ®0
®0

_26_



ARG RS~

M HAd 25 84
el Ead Bs2e| (=& J)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 It M AHE L 622,512 636,000 N 13,488
OFA~Y 2z 3XA 622,512
J| 311,256
< 93,376
Al 217,880
FadE A2 MNHGHE T2 N2 10,000 3,750 6,250
< 10,000
307 21201 A 10,000 3,750 6,250
< 10,000
02 QB AANGFEX 10,000 3,750 6,250
OFAY A2 MNYHE 28 X2 10,000
S 10,000
Fad RS ZIZAE 29 12,750 12,750 0
= 6,375
Al 6,375
307 21201 A 12,750 12,750 0
= 6,375
Al 6,375
02 IS AHE L 12,750 12,750 0
OFAYE RoiFIZAY 294 12,750
= 6,375
Al 6,375
a9 SEXNKHAH 22 87,670 85,500 2,170
p] 43,835
Al 43,835
307 glz2tol & 87,670 85,500 2,170
J| 43,835
Al 43,835
02 IZtE M AHE X 87,670 85,500 2,170
O&EF=Al 44 SEXNE MA=2E 87,670
J| 43,835
Al 43,835
HFad AZEM 9 StnZANLNF 6,250 6,250 0
< 5,000
Al 1,250
307 21201 A 6,250 6,250 0
< 5,000
Al 1,250
02 QAFAAFEX 6,250 6,250 0
OFAH AZGM & STWZHNLWF 6,250
< 5,000
Al 1,250
HAEUAIEEMA S AIAS 9,500 0 9,500
307 21201 A 9,500 0 9,500
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ARG RS~

M HAd 25 84
e 3Aad Bz (e H)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
HFANFLAEEFTHRARLS 2H 2,800 2,800 0
J| 1,400
Al 1,400
307 2Iz2t0| A 2,800 2,800 0
Jl 1,400
Al 1,400
02 QIZHEAAIRE E X 2,800 2,800 0
O&FFA EA4AHE EOHRAXS 29 2,800
J| 1,400
Al 1,400
Stpgt FAUESANKF]EIZ NS 82,800 67,000 15,800
J| 57,960
Al 24,840
307 giztol & 82,800 67,000 15,800
J| 57,960
Al 24,840
02 AI2tAAMAIE E =X 82,800 67,000 15,800
Ostue FAESEXNIEIZ IS 29 82,800
J| 57,960
Al 24,840
StNEHE etz 29 4,500 10,000 A5,500
307 212t0| & 4,500 10,000 A5,500
02 AI2tAMAIE E =X 4,500 10,000 A5,500
ORIMAEZA XNANG (DS HAERTL9
) 4,500
StNEHAFZHERD 2= 29 20,000 0 20,000
= 6,000
Al 14,000
307 QI2t0| ™ 20,000 0 20,000
= 6,000
Al 14,000
02 QI2tAAMAIE E =X 20,000 0 20,000
OSDEANZYEND 2% 29 20,000
= 6,000
Al 14,000
HAEAE 2 XA 2,308,952 2,097,516 211,436
= 20,000
J| 371,841
= 112,348
Al 1,804,763
Z2Z2FAUE SN T208 291 7,690 13,300 N5,610
J| 3,845
Al 3,845
307 212t0| & 7,690 13,300 N5,610
J| 3,845
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<

n0

Kio

Hl w

N5,610

93,178
93,178

93,178

6,000
6,000

6,000

41,728

41,728

195,428

H3r
Wikd
RIS

13,300

1,164,750
1,164,750

1,164,750

97,680
97,680

97,680
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SH: OEEAED
MY HAUW B35 84

(= gy}

el HAUAY 29X @ CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 19,000
Al 163,000
OFAY ME=RHEH SAR MMM 13,428
a4 Hd23dH 29 X2 150,915 150,900 15
J| 68,742
= 20,624
Al 61,549
307 21201 A 150,915 150,900 15
J| 68,742
< 20,624
Al 61,549
02 QB AANGFEX 150,915 0 150,915
OFAY Hd25dH 29 X& 137,487
9] 68,742
< 20,624
Al 48,121
OFAY H23dH SAX MMM 13,428
c] #addy 29 365,712 292,540 73,172
J| 169,428
< 50,828
Al 145,456
307 glz2+ol & 365,712 292,540 73,172
p] 169,428
< 50,828
Al 145,456
02 HAFHAANHEEE 365,712 0 365,712
O3 A~E EH2YE 338,856
Jl| 169,428
< 50,828
Al 118,600
OHIIEAY dH SAXN MMM 26,856
s dxEEH 22 156,715 107,962 48,753
J| 72,986
= 21,896
Al 61,833
307 izl & 156,715 107,962 48,753
J| 72,986
< 21,896
Al 61,833
02 IZtEMAMHEE 156,715 0 156,715
Os&I HadEdEH 22 145,972
J| 72,986
< 21,896
Al 51,090
Os&I 2EdH EMA MRMH 10,743
Zof Ots. 8449 & QAW=S 20,000 40,000 A20,000
= 20,000
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Ehelr EAEAE 2E9XR (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 20,000 40,000 A 20,000
= 20,000
02 IZHEHAHEE 20,000 40,000 A 20,000
OX Ols . dAHE & QA= 20,000
= 20,000
EXE0SIUOIIME 29F ANL2HeaH 8&53 40,884 66,684 A 25,800
9 MEZ 40,884 41,684 A 800
01 SAt- SHINTES 40,884 41,684 A 800
O=*E0SdUHOHIHE 2Y AMd2elsH Ao
=3 40,884
HAE AL A 315,000 92,000 223,000
< 23,000
Al 292,000
FAEANE AUFE L Ex=ZA 99,000 80,000 19,000
= 19,000
Al 80,000
401 Al HIZ 201 I 99,000 80,000 19,000
< 19,000
Al 80,000
01 A& HI 99,000 80,000 19,000
OHEALEANE ZA 80,000
O NEBALEIESE SHIML 19,000
< 19,000
FAUEAIE BH wX22) 16,000 12,000 4,000
< 4,000
Al 12,000
405 XtaHE SHI 16,000 12,000 4,000
< 4,000
Al 12,000
01 AR ESFH S 16,000 12,000 4,000
OFAEAE ZHl A 12,000
OUNEHLERBOE THTY 4,000
< 4,000
Ot . dAGdyH A8 200,000 0 200,000
401 AIEHI L 2CHYI 200,000 0 200,000
01 A& Bl 200,000 0 200,000
OO0tz . #AEHH AE A 200,000
CtE2 st ALE X & 1,180,131 1,169,235 10,896
Jl| 493,176
< 213,579
Al 473,376
Ct23tAlel X & 1,180,131 1,169,235 10,896
J| 493,176
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
== 213,579
Al 473,376
ChENEXNJHEH 22 411,994 451,862 A 39,868
J| 256,767
< 49,106
Al 106,121
307 glz2tol & 411,994 451,862 A 39,868
J| 256,767
< 49,106
Al 106,121
11T M SXASEX 411,994 451,862 A 39,868
OC=aIIE XNAHH 2LXE 411,994
J| 256,767
< 49,106
Al 106,121
Ct2stEXNJHEH SAME X 25,043 24,314 729
< 10,018
Al 15,025
307 21201 A 25,043 24,314 729
< 10,018
Al 15,025
10 ALSISXAIEEE2GHEX 25,043 24,314 729
OUZ2aIIEXNAEEH SAE & 25,043
< 10,018
Al 15,025
ChE}NSXNHEH SAL =< 6,480 6,480 0
< 1,944
Al 4,536
307 2201 A 6,480 6,480 0
< 1,944
Al 4,536
10 AL SXNAIEEE2EHEX 6,480 6,480 0
OU=ZAINEXNFHEH SAX = 6,480
< 1,944
Al 4,536
CE3NEXNHEH = 20,400 20,400 0
201 LBt2d| 20,400 20,400 0
01 At 22l 20,400 20,400 0
OU=aANFXNHLH Pz
1,700,000& 1200 & 20,400
Ct238tJtE 0189 s E x4 33,286 32,500 786
Jl 23,301
< 3,329
Al 6,656
307 glz2tol & 33,286 32,500 786
J| 23,301
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= 3,329
Al 6,656
11T A EXAIEEX 33,286 32,500 786
OUE23IEXE 0IZsHHAIY 33,286
J| 23,301
= 3,329
Al 6,656
Ch2sIs dge X 83,213 83,213 0
J| 58,249
= 8,321
Al 16,643
307 QI2t0| & 83,213 83,213 0
J| 58,249
o=} 8,321
Al 16,643
11 A EXAIEEX 83,213 83,213 0
OUE3IIE 9 & nEIA 83,213
J| 58,249
& 8,321
Al 16,643
ChEstd =22 AAMY 21,400 21,400 0
&< 8,560
Al 12,840
307 2iz2to| & 21,400 21,400 0
== 8,560
Al 12,840
11T A EXAIE EX 21,400 21,400 0
OUI23IE HEEHAAY 21,400
o=} 8,560
Al 12,840
CIE3IE D8 UE0| AFY 108,000 108,000 0
& 32,400
Al 75,600
307 QI2t0| ™ 108,000 0 108,000
= 32,400
Al 75,600
11T A EXAIEEX 108,000 0 108,000
OUESIIE DSLIS0l AIY 108,000
= 32,400
Al 75,600
Ch2sIIECH BX2 838X 18,000 0 18,000
307 2I2t0| ™ 18,000 0 18,000
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OLURIIIN=ZSNEN FELSAEZHSI(HEFA
HAESHE2s) 5,000
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< 9,000
Al 21,000
307 gl2tol & 30,000 30,000 0
< 9,000
Al 21,000
11T AS S RAEE = 30,000 30,000 0
Otz HEE 2aXJAY 30,000
< 9,000
Al 21,000
Ctzstitssty 243 70,007 43,007 27,000
< 28,002
Al 42,005
307 glz2+0ol & 70,007 43,007 27,000
= 28,002
Al 42,005
11 ASI S AAISEE = 70,007 43,007 27,000
OXNGdEH U2st0t=8Y 299 70,007
< 28,002
Al 42,005
bhzstdsd dz XA 10,000 0 10,000
= 4,000
Al 6,000
307 21201 A 10,000 0 10,000
< 4,000
Al 6,000
11T MISXASEEX 10,000 0 10,000
ot=2staEard a=Z 10,000
< 4,000
Al 6,000
=sto FHs 40 U2 =) 13,000 8,000 5,000
201 £B-2dH| 10,000 5,000 5,000
03 A2 Z Hl 10,000 5,000 5,000
O23%te F¥s €d s &g 5,000
Ogt=1% 2sHE 5,000
301 L2 A3 3,000 3,000 0
09 EAEHIE &S 3,000 3,000 0
OFste ZHE2S €0 UE3IHE 3,000
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Al 4,433
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Dl 15,513
= 2,216
Al 4,433
11T A EXAIEEX 22,162 0 22,162
o2y SIXNH 22,162
J| 15,513
=} 2,216
Al 4,433
Z2E0QUX & - HAEANHI A 51,696 48 546 3,150
J| 36,187
& 5,170
Al 10,339
307 giztol A 51,696 48 546 3,150
J| 36,187
& 5,170
Al 10,339
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o 8,000
Al 12,000
307 212t0| & 20,000 16,800 3,200
o= 8,000
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11 A EXAIEEX 20,000 16,800 3,200
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Al 12,000
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Al 32,760
11T AISIEXAIEEX 54,600 44400 10,200
OZ&E0|12X SSUE SEFNSIE 54,600
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Al 32,760
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Z S0/ X st stHIX & 15,000 10,000 5,000
< 6,000
Al 9,000
301 gt d= 15,000 10,000 5,000
< 6,000
Al 9,000
01 Ml2ZHE 6= 15,000 10,000 5,000
OZE0I2A CHe: SHIXI& 15,000
< 6,000
Al 9,000
ZAIH0IFHE BESAE 2ZXA 147,370 144,433 2,937
J| 103,159
< 14,737
Al 29,474
307 glz2tol & 147,370 144,433 2,937
J| 103,159
< 14,737
Al 29,474
11T MISRASEX 147,370 144,433 2,937
ZY0H0IF=0E E3AE 2EXE 147,370
J| 103,159
< 14,737
Al 29,474
ZYIUH0IFHLEESAIE EMK =AY 18,480 2,880 15,600
< 936
Al 17,544
307 21201 A 18,480 2,880 15,600
= 936
Al 17,544
10 M SXNANEHES2IHEX 18,480 2,880 15,600
OZZUMOIFHEESAE SML SEXxE 3,120
< 936
Al 2,184
OWEESANE BSAXR MRHMA 15,360
HYRAZH (LS HAED) 85,544 83,800 1,744
Jl2du(egdAE) 85,544 83,800 1,744
Jl2dul (8 ®A4Amt) 85,544 83,800 1,744
201 L2l 43,904 43,600 304
01 At 22l 43,904 43,600 304
OogBt+=EH| 20,800
ozg=+¢ 10,000
o=l 13,104
202 odl 37,440 36,000 1,440
01 S LHOIYI 37,440 36,000 1,440
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